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7. (a) Workout §+%

Give your answer in its simplest form.

2.4
©) Workout  x

(9) Work out 423 x 12

You must show all your working.

@

@

@

(Total 7 marks)
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10. (2) Simplify  3a+4dc-a+3c

(b) Expand H2y-3)

(9) Factorise 2 —4x

(d) Expand and simplify ~ 2(x+3)+3(2x-1)

(e) Solve 3+2)=8

@

(Total 9 marks)
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12. Batteries are sold in packets and boxes.
Each packet contains 4 batteries.
Each box contains 20 batteries.

Bill buys p packets of batteries
and b boxes of batteries.
Bill buys a total of N batteries.

Write down 2 formula for N in
terms of p and b.

(Total 3 marks)
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15. kis an integer such that -1 < k<3

(a) List all the possible values of k.

@

(b) Solve the inequality 6y >y + 10

@

(Total 4 marks)
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20. Solve the simultancous equations
ax+y=-1

4x-3y=17

(Total 3 marks)
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Using the information that

wite down the value of

(a) 740 %234

(b) 74234

74234 =17316

[}

[}
(Total 2 marks)
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2. Work out an estimate for the value of
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3. (a) Complete the table of values for y=2x +2

x| 2| a 0 1 2 3
¥ 0
@
(b) On the grid, draw the graph of y = 2x + 2
Yy
9
&
6
+
3
E) ] 0| 3 x
-3
—+
@

(9) Use your graph to find
() the value of y whenx =-1.5

(i) the value of x wheny =7

(Total 6 marks)
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‘Triangle P has been drawn on a grid.
() On the grid, draw an enlargement of the triangle P with scale factor 3
@
yi
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‘Triangle Q has been drawn on a grid.
(b) On the grid, rotate triangle Q 90° clockwise, centre 0.
@

(Total 5 marks)
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5. Here are the weights in grams, to the nearest gram, of 15 eggs.

3 46 41 54 51
38 60 44 55 51
62 55 52 37 63

(a) Complete the ordered stem and leaf diagram to show this information.
You must include a key.

Key

@
Meg is going to pick at random one of the eggs.

(b) Work out the probability that this egg will have 2 weight of more than 45 grams.

@

(Total 5 marks)




